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LIBRARY iee=e;

USE icee.std logic_1164.2l11;

LIBRERY work;

FJENTITY NCO2 IS

=

[
|

=]

=]

PORT

(
clkin :
clken :

outvalid :

fsin :

END NCO2:

COMPONENT nco
PORT (clk :
reset_n

clken :

our_val

fsin o :

I
END CCMPONENT;

PORT ( coeff_l6a : OUT
)y
END COMPONENT;
SIGNAL  SYNTHESIZED WIRE 0 : 5TD_LO
BEGIN

b2v_inst : nco

ouT

N

;I
w
phi_inc i :
id
ouT DOWNTO 0)

DOWNTO 0)

EJRRCHITECTURE bdf_type OF NCO2 IS

STD_L

EICOMPONENT coeff 16

EIPCRT MAP (clk =» clkin,

reget N =» clken,

clken =» clken,

phi_inc i => SYNTHESIZED WIRE 0,
out_valid =» outvalid,

fsin 0 = fsin);

bv_inst2
BCRT MAE(

END bdf_type:
1L}

: coeff 16

cosff 162 =» SINTHESIZED WIRE 0);

5 DOWNTC 0);

5 DOWNTO 0)

DOWNTO 0) ;
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